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1. A IO¢ & 9 G
Choose the correct answer -

R § ) A o R R #iee @

@@

(i)

AY-304

(=)
@3
(®)
@)

"Value C+t+"
"137.45"

™

All of the above

Which of the following is a string literal constant ?

(a)
(b)
(c)
(d)

"Value C++"
"137.45"

AN

All of the above

FF & @ @ el @ TR &

(%)
(®)
(®)
%)

Insert
Void

Copy
Paste

Which of the following is a type of constructor :

@
(b)
(©
(d)

Insert
Void

Copy
Paste

()
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Fr=1 91 % amgeye B 7

#include<iostream.h>

inta=10;

{

int a=20;

cout <<a<<:ia;

} .

{31) Syntax error

(@) 1020

(@ 20 10

@ 2020 ]
The output of this code is..... _
#include<iostream.h> |
inta=10;

{

int a =20;

cout <<a<<ia;

}

(a) Syntax error

(b) 10 20

() 20 10

(d) 20 20

3) P.T.O.
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T J e T 8% 9 gy @

() LIFO

(@ PUSH

(d) POP

® ALL

Which of the following name related to stacks?
@ LIFO

(b) PUSH
(c) POP
(d) ALL
D w6 A W s e R
() True
(@) False
Tree is non linear data structure.
(@) True
(b) False
ge - T
SECTION -'B'
qY AT I Sx2=10

Short Answer Type Questions

2. OOP ¥ Frwrier gt w =t A

&
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Discuss on information hiding feature of OOP. 6. UF 3w foige R T & o0 AR a9y & Ry ey
. SE/OR Write steps in your language to create a doubly linked list.
BT ¥ inline $ave @ @ SMavawHd & ¢ gai/OR
What is the need of inline function in programming ? Sl A ) F ot iRl
3. Toraet 4 oy o oyeR ¥ 7 TEd SRy A A e | Write difference between tree and Binary tree.
What do you mean by destructor ? Whrite its purpose also. g - ‘q
#gq1/OR SECTION - 'C'

A B 9t B Re wp CH+ S FEd |

Write a C++ program to demonstrate sample of class.

wfvs TREE @ ambiguity dfaFd 9¥ = A

i i 1w 5x5=25
Long Answer Type Questions
7. dfie ARQE Gt § Ry Rrsidt W BeR @ a9t

-
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Discuss ambiguity in Hybrid Inheritance. Yoy
EEr/OR ] L
Discuss basic principles of Object Oriented Programming
ﬁm%%w%i‘@ﬁwﬁﬁmﬂ%? detail .
What is virtual base class ? Why it is use ?
5 H@Tﬂw%?ﬁﬂﬂﬂﬁaﬁ?ﬂww%? _ . HE/OR '
What is a circular queue ? How it is different from normal ‘ ' TR T qIIRY |
0 , Explain function overloading with suitable program.
queue *
FEa/OR 8. JER & R & wh 3 Ry @ C++ Sam Fifad
o 3o BFR A FE N TR (SRR Ry | Write a C++ Program which demonstrates Array of Ob-
Write any three applications of stack data structure. jects.
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Hgqr/OR
Ci+ BT & constructors & ot 5l @ =il R
Discuss all types of constructor in C-+ programming.
mﬁﬁmmmmlmﬁﬁﬁmmal
Write the purpose of Inheritance in programming. Explain
with suitable program.

HEqI/OR
C+ 3 SRR el &1 7 7e § ? I 8ieq A
BifoT |
What is the significance of operator overloading in C++?

Explain with suitable program.

. P cradem @ Ru ) SR § oftaffa Sk

Transform each of the following expression into given

notation:
(i) Prefix to postfix
(A+B)*(C/D*E-F)+G)-H
(i} Prefix to infix
+++A- */BCD+EF*GHI
(iii) Postfix to infix
AB-C+DEF-+/
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ATa/OR
gl 3x3 @ Q& foreen F ABIT 100 § 5 Fan & AR
T wfeiie & G 4 91%C & 1§87 Array [2][3] aQ < B
WW@H,ﬁ@WWWW%mmWI
There is 3x3 Array and memory location start from 100
and each element take 4 bytes. Calculate address of element
at Array [2][3] for both row and column major order?

11, =99 Rive e § wy awr i OfleR W @& 5 3769

B 5 fre seiiem [ifEd
Write an algorithm to insert a node at Top and Bottom
position of doubly linked list.
HAYGI/OR
Taa au1 R aifdT & frg sy [l
Write Algorithms for Bubble and Selection Sorting.
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